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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.

Then mark your choice on your answer sheet.

She's not very -----—--- -- In the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the ------—--- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial -----—--- on the company are preventing them from employing new staff.

1) resolutions 2) deductions 3) approaches “4) constraints

The pattern --—--—--—-- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be —--—-- -- next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in-----—--- , but you'll need some practical work experience
before you can apply for the job.

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n) -—------ -- improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had --------—-- herself.

1) knitted 2) knitted it 3) been knitted 4) been knitted it

The teacher suggested that Ali -———----—-- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to ~—----—-- 5

1) refuse 2) refusing 3) refused 4) be refused

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) ---------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million people (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3) in 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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PART C: Reading Comprehension

M Directions: Read the following passages and answer the questions by choosing the best choice (1),

(2), (3), or (4). Then mark the correct choice on your answer sheet. :

Passage I:

Feedback Control System. A system that maintains a prescribed relationship between the output and some
reference input by comparing them and using the difference as a means of control is called a feedback
control system. An example would be a room-temperature control system. By measuring the actual room
temperature and comparing it with the reference temperature (desired temperature), the thermostat turns the
heating or cooling equipment on or off in such a way as to ensure that the room temperature remains at a
comfortable level regardless of outside conditions.

Feedback control systems are not limited to engineering but can be found in various non-engineering fields
as well. The human body, for instance, is a highly advanced feedback control system. Both body temperature
and blood pressure are kept constant by means of physiological feedback. In fact, feedback performs a vital

function: It makes the human body relatively insensitive to external disturbances, thus enabling it to function
properly in a changing environment.

From the sentence “Feedback control systems are not limited to engineering but can be found in
various non-engineering fields as well,” we understand that the systems mentioned are applicable to

1) different fields including engineering 2) non-engineering fields only
3) some fields excluding engineering 4) the engineering field exclusively

From the text, it can be inferred that human body’s relative insensitivity to the disturbances in the
environment arises out of ---------- ‘

1) body temperature and blood pressure 2) changing environment
3) feedback performance 4) physiology feedback

According to the text, the sentence “In fact, feedback performs a vital function.” means that in fact,
feedback

1) does an essential task 2) functions very soundly

3) has an inevitable function 4) performs a terrific function

The underlined word it in the text refers to --------—-- !

1) a vital function 2) the feedback 3) the human body 4) the physiological feedback
Passage II:

As it is known well, the ultimate purpose of a code or script is the transmission of information, and when
one studies this aspect of a code one speaks not of a code but of a language. If one regards a code which acts
as vehicle for information as a set of symbols, then one arrives at the problem of the relation between
symbols or groups of symbols and the meaning or information associated with these. The highly
philosophical science which deals with this problem in the widest possible sense is called semiotics, and can
be divided into three branches, viz pragmatics (the theory of the relation between symbols, what the person
who produces the symbols means by them, and what the person who observes them understands by them),
semantics (the theory of the relation between symbols and their real or theoretical meaning) and syntax (the
theory of the formal relations which must exist between the symbols if they are to form meaningful
combinations, leaving the meaning itself of the combinations out of consideration). There is naturally no
room here to go into the philosophical and linguistic aspects of these problems, but we have already said

enough to show how closely language and logic are related, and what a vast terra ignognita faces the student
of this subject.
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We understand from the text that a language consists of ------- —

1) aspects 2) codes 3) combinations 4) digits

“This subject” in the last sentence refers to -—-----—-,

1) language 2) pragmatics 3) semantics 4) syntax

The underlimed phrase “this problem” refers to ------- -

1) the symbols and groups of symbols 2) the relation between symbols and meaning

3) the information transmitted by symbols 4) the set of symbols and information transmitted
The word “room” as used here means --—--—-—--—- i

1) facility 2) opportunity 3) probability 4) time

Passage III:

Feedback control refers to operation that, in the presence of disturbances, tends to reduce the difference
between the output of a system and some reference input and that does so on the basis of this difference.

Here only unpredictable disturbances are so specified, since predictable or known disturbances can always be
compensated for within the system.,.

According to the text, the underlined word specified means:
1) revised 2) developed 3) devised 4) determined
The underlined phrase compensated for in this context means:

1) set up 2) served 3) made up 4) omitted

Passage I'V:

The process of having a machine or machines accomplish tasks hitherto performed
wholly or partly by humans. As used here, a machine refers to any inanimate
electromechanical device such as a robot or computer. As a technology, automation
can be applied to almost any human endeavor, from manufacturing to clerical and
administrative tasks. An example of automation is the heating and air-conditioning
system in the modern household. After initial programming by the occupant, these
systems keep the house at a constant desired temperature regardless of the conditions
outside.

The fundamental constituents of any automated process are (1) a power source, (2) a
feedback control mechanism, and (3) a programmable command

structure. Programmability does not necessarily imply an electronic computer. For
example, the Jacquard loom, developed at the beginning of the nineteenth century,
used metal plates with holes to control the weaving process. Nonetheless, the advent
of World War II and the advances made in electronic computation and feedback have
certainly contributed to the growth of automation. While feedback is usually
associated with more advanced forms of automation, so-called open-loop automated
tasks are possible. Here, the automated process proceeds without any direct and
continuous assessment of the effect of the automated activity. For example, an
automated car wash typically completes its task with no continuous or final
assessment of the cleanliness of the automobile.

26- From the text, we understand that automation can be applied by -—---- ——

1) administrators and clerks 2) engineers only
3) manufacturers only 4) people with different occupations
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We infer [rom the text that the science which has made the most contribution to automation is =~---—-- 1

1) mechanics 2) computer 3) electronics 4) eléctricity
We understand from the passage that “feedback” is widely used in ---=-seeemm-

1) advanced forms of automation 2) assessment of processes

3) open-loop automated tasks 4) automating car-wash systems
Automation, as used here, refers to using --—---—-——- to carry out human endeavors.

1) devices 2) households 3) instruments 4) machines
The Jacquard loom is an example of an automation in which —-—--=--- ;

1) the occupant runs the machine

2) holes control the weaving process

3) the machine was programmed to increase production
4) the machine was programmed by the user
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